



INSTITUT DE FRANCE
Académie des sciences

Comptes Rendus

Mathématique


Shan E. Farooq, Khurram Shabir, Shahid Qaisar, Farooq Ahmad
and O. A. Almatroud

**New Inequalities of Simpson's type for differentiable functions via
generalized convex function**

Volume 359, issue 2 (2021), p. 137-147.

<<https://doi.org/10.5802/crmath.152>>

© Académie des sciences, Paris and the authors, 2021.
Some rights reserved.

 This article is licensed under the
CREATIVE COMMONS ATTRIBUTION 4.0 INTERNATIONAL LICENSE.
<http://creativecommons.org/licenses/by/4.0/>



Les Comptes Rendus. Mathématique sont membres du
Centre Mersenne pour l'édition scientifique ouverte
www.centre-mersenne.org



Analysis / Analyse

New Inequalities of Simpson's type for differentiable functions via generalized convex function

Shan E. Farooq^{Ⓢ a}, Khurram Shabir^a, Shahid Qaisar^b, Farooq Ahmad^{*, c, d} and O. A. Almatroud^c

^a Department of Mathematics, Government College University, Lahore, Punjab, Pakistan

^b Department of Mathematics, COMSATS University Islamabad, Sahiwal Campus, Pakistan.

^c Department of Mathematics, College of Sciences, University of Ha'il, Ha'il, KSA.

^d School of Mechanical and Aerospace Engineering, NANYANG Technological University, Singapore.

E-mails: shanefarooq@gmail.com (S. Farooq), Dr.khurramshabir@gcu.edu.pk (K. Shabir), shahidqaisar90@cuisahiwal.edu.pk (S. Qaisar), ahmad.farooq@ntu.edu.sg (F. Ahmad), o.almatroud@uoh.edu.sa (O. Almatroud)

Abstract. This article presents some new inequalities of Simpson's type for differentiable functions by using (α, m) -convexity. Some results for concavity are also obtained. These new estimates improve on the previously known ones. Some applications for special means of real numbers are also provided.

2020 Mathematics Subject Classification. 26A15, 26A51, 26D10.

Funding. This work was supported by the Higher Education Commission (Islamabad) through the National Research Program for Universities, Grant No. 7359/Punjab/NRPU/R&D/HEC/2017.

Manuscript received 19th July 2020, revised 16th August 2020 and 21st October 2020, accepted 17th November 2020.

1. Introduction

A well known definition in the mathematical literature is known as convex function:

Definition 1. A function $f : \Phi \neq I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is said to be convex on I , the following inequality holds:

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y), \text{ for all } x, y \in I, t \in [0, 1].$$

* Corresponding author.

Many authors have been introduced new inequalities for convex functions but due to its large application and significance the well known Simpson's inequality is stated as [1]:

Let $f : [a, b] \rightarrow \mathbb{R}$ be a four times continuously differentiable mapping on (a, b) and

$$\|f^{(4)}\|_{\infty} = \sup_{x \in (a, b)} |f^{(4)}(x)| < \infty,$$

then we have the following inequality:

$$\left| \left[\frac{1}{6}f(a) + \frac{2}{3}f\left(\frac{a+b}{2}\right) + \frac{1}{6}f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{2880} \|f^{(4)}\|_{\infty} (b-a)^4. \tag{1}$$

In [2], Dragomir et al. proved the following recent developments on Simpson's inequality for which the remainder is expressed in terms of derivatives lower than the fourth.

Theorem 2. Let $f : [a, b] \rightarrow \mathbb{R}$ is a differentiable mapping whose derivative is continuous on (a, b) and $f' \in L_1[a, b]$. Then we have the following inequality:

$$\left| \left[\frac{1}{6}f(a) + \frac{2}{3}f\left(\frac{a+b}{2}\right) + \frac{1}{6}f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)}{3} \|f'\|_1, \tag{2}$$

where $\|f'\|_1 = \int_a^b |f'(x)| dx$.

The bound of inequality (2) for L-Lipschitzian mapping was given in [10] by $\frac{5}{36}(b-a)$.

Theorem 3. Suppose $f : [a, b] \rightarrow \mathbb{R}$ is an absolutely continuous mapping on $[a, b]$ whose derivative belongs to $L_p[a, b]$. Then the following inequality holds,

$$\left| \frac{1}{3} \left[\frac{f(a)+f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{6} \left[\frac{2^{q+1}+1}{3(q+1)} \right]^{\frac{1}{q}} (b-a)^{\frac{1}{q}} \|f'\|_p$$

where $\frac{1}{p} + \frac{1}{q} = 1$ and $p > 1$.

In [5], Kirmaci established the following Hermite–Hadamard type inequality for differentiable convex functions as:

Theorem 4. Let $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable function on I^0 (interior of I), where $a, b \in I$ with $a < b$. If the mapping $|f'|$ is convex on $[a, b]$, then

$$\left| \frac{1}{b-a} \int_a^b f(x) dx - f\left(\frac{a+b}{2}\right) \right| \leq \frac{b-a}{8} \left[|f'(a)| + |f'(b)| \right].$$

In [3], Dragomir and Fitzpatrick presented the following inequalities:

Theorem 5. Suppose that $f : [0, \infty) \rightarrow [0, \infty)$ is a convex function in the second sense, where $s \in (0, 1)$ and let $a, b \in [0, \infty)$, $a < b$, $m \in (0, 1)$. If $f \in L_1[ma, b]$, then

$$2^{s-1} f\left(\frac{ma+b}{2}\right) \leq \frac{1}{mb-a} \int_{ma}^b f(x) dx \leq \frac{f(ma)+f(b)}{s+1}.$$

In [8], Qaisar et al. presented inequalities for differentiable convex functions which are linked with Simpson's inequality and the main inequality in [8], pointed out, is as follows.

Theorem 6. Let $I \subset \mathbb{R}$ be an open interval, $a, b \in I$ with $a < b$ and $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable function such that f' is integrable and $0 < \alpha \leq 1$ on (a, b) with $a < b$. If $|f'|$ is (α, m) -convex on $[a, b]$, for $(\alpha, m) \in [0, 1]^2$ then the following inequality holds:

$$\left| \frac{1}{6} \left[f(ma) + 4f\left(\frac{ma+b}{2}\right) + f(b) \right] - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \leq (b-ma) [v_1 |f'(b)| + mv_2 |f'(a)|], \tag{3}$$

$$v_1 = \frac{6^{-\alpha} - 9(2)^{-\alpha} + (5)^{\alpha+2}(6)^{-\alpha} + 3\alpha - 12}{18(\alpha + 1)(\alpha + 2)} \text{ and } v_2 = \left(\frac{5}{36} - v_1\right).$$

Proposition 7. Under the assumptions of Theorem 6 with $\alpha = 1$, we have the following inequality,

$$\left| \frac{1}{6} \left[f(ma) + 4f\left(\frac{ma+b}{2}\right) + f(b) \right] - \frac{1}{b-ma} \int_{ma}^b f(x) dx \right| \leq \frac{5(b-ma)}{72} (|f'(a)| + |f'(b)|) \quad (4)$$

Theorem 8. Let $f : I \subset [0, \infty) \rightarrow \mathbb{R}$ be a differentiable mapping on I^0 such that $f' \in L_1[a, b]$ where $a, b \in I$ with $a < b$. If $|f'|^q$ is (α, m) -convex on $[a, b]$, for some fixed $s \in (0, 1]$ and $q \geq 1$, then the following inequality holds:

$$\frac{1}{6} \left[f(ma) + 4f\left(\frac{ma+b}{2}\right) + f(b) \right] - \frac{1}{b-ma} \int_{ma}^b f(x) dx \leq \frac{(b-ma)}{2} \left(\frac{5}{72}\right)^{1-1/q} \times \left\{ (u_1 |f'(b)|^q + mu_2 |f'(a)|^q)^{1/q} + (u_3 |f'(b)|^q + u_4 |f'(a)|^q)^{1/q} \right\}.$$

where

$$u_1 = \frac{(3^{-\alpha})(2^{1-\alpha}) + 3(\alpha)(2^{1-\alpha}) + 3(2^{-\alpha})}{6^3(\alpha + 1)(\alpha + 2)}, \quad u_2 = \left(\frac{5}{72} - u_1\right),$$

$$u_3 = \frac{(5^{\alpha+2})(3^{-\alpha})(2^{1-\alpha}) - 3(\alpha)(2^{1-\alpha}) - 21(2^{-\alpha}) + 6(\alpha) - 24}{6^3(\alpha + 1)(\alpha + 2)}, \quad u_4 = \left(\frac{5}{72} - u_3\right).$$

Proposition 9. Under the assumptions of Theorem 8 with $\alpha = m = q = 1$, if $|f'(x)|^q \leq Q \quad \forall x \in I$, we have the following inequality,

$$\left| \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{5(b-a)}{36} Q.$$

For some results that generalize, improve and extend the inequality and new Simpson’s type inequalities, see ([9, 11] and [4, 6]).

The main aim of this paper is to establish new Simpson’s type inequalities for (α, m) -convexity for the class of functions whose derivatives in absolute value at certain powers are (α, m) -convex functions. Some results for concave functions are also obtained.

2. Main Results

In [7], Mihesan presented the class of (α, m) -convex functions as:

Definition 10. A function $f : [0, d] \rightarrow \mathbb{R}, d > 0$ is said to be (α, m) -convex functions where $(\alpha, m) \in [0, 1]^2$, if for every $x, y \in [0, \infty]$ and $\lambda \in [0, 1]$, the following inequality holds:

$$f(\lambda y + m(1-\lambda)x) \leq \lambda^\alpha f(y) + m(1-\lambda^\alpha) f(x),$$

Denote by $K_m^\alpha(d)$ the class of all (α, m) -convex functions on $[0, d]$ for which $f(0) \leq 0$.

Definition 11. If we choose $(\alpha, m) = (1, m)$, we can obtain m -convex functions and for $(\alpha, m) = (1, 1)$, we have ordinary convex functions on $[0, d]$.

In order to prove our main results, we need the following integral equality.

The following essential definitions and Lemmas play a key role to establish our main results:

In this paper, for the simplicity of the notation, let

$$s_{ma}^b(f)(h, n) = \frac{1}{n} [f(ma) + (n-2)f(hb + m(1-h)a) + f(b)] - \frac{1}{mb-a} \int_{ma}^b f(x) dx,$$

for $h \in (0, 1)$ with $1/n \leq h \leq (n-1)/n$ for any integer $n \geq 2$. Then we have following equality:

Lemma 12. Let $f : [0, b^*] \rightarrow \mathbb{R}$, $b^* > 0$, be differentiable mapping on I^0 such that $f' \in L_1([ma, b])$ where $a, b \in I$ with $a < b$ and $[a, b] \subset [0, b^*]$ and $m \in (0, 1)$. If $h \in (0, 1)$ with $1/n \leq h \leq (n-1)/n$ for any integer $n \geq 2$, then we have:

$$s_{ma}^b(f)(h, n) = (b - ma) \int_0^1 k(\lambda, h) f'(\lambda b + m(1 - \lambda)a) d\lambda,$$

where

$$k(\lambda) = \begin{cases} (\lambda - \frac{1}{n}), & \lambda \in [0, h], \\ \lambda - \frac{n-1}{n}, & \lambda \in [h, 1]. \end{cases}$$

Proof. Using integrating by parts, we have

$$\begin{aligned} s_{ma}^b(f)(h, n) &= \int_0^h \left(\lambda - \frac{1}{n}\right) f'(\lambda b + m(1 - \lambda)a) d\lambda + \int_h^1 \left(\lambda - \frac{n-1}{n}\right) f'(\lambda b + m(1 - \lambda)a) d\lambda \\ &= \frac{1}{mb - a} \left[\frac{n-2}{2} f(hb + m(1-h)a) + \frac{1}{n} (f(b) + f(ma)) \right] - \frac{1}{(mb - a)^2} \int_{ma}^b f(x) dx. \end{aligned}$$

□

This proves as required.

Theorem 13. Let $f : [0, b^*] \rightarrow \mathbb{R}$, $b^* > 0$, be differentiable mapping on I^0 such that $f' \in L_1([ma, b])$ where $a, b \in I$ with $a < b$ and $[a, b] \subset [0, b]$. If the mapping $|f'|$ is (α, m) -convex on $[a, b]$ for some $(\alpha, m) \in [0, 1]^2$ then for $h \in (0, 1)$ with $1/n \leq h \leq (n-1)/n$ for any integer $n \geq 2$, then we have the inequality:

$$\left| s_{ma}^b(f)(h, n) \right| \leq (b - ma) [v_1 |f'(b)| + v_2 m |f'(a)|],$$

where

$$v_1 = \frac{2 + 2(n-1)^{\alpha+2}}{n^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{2 + \alpha - n}{n(\alpha+1)(\alpha+2)} + \frac{h^{\alpha+1}(\alpha(2h-1) + 2(h-1))}{(\alpha+1)(\alpha+2)},$$

and

$$v_2 = \left(\frac{n^2 + 2n^2h^2 + 2(n-1)^2 - 2n(n-1)(h+1) + 2 - 2nh}{2n^2} - v_1 \right).$$

Proof. Taking modulus on both sides of Lemma 12 and using (α, m) -convexity we get

$$\begin{aligned} \left| s_{ma}^b(f)(h, n) \right| &= (b - ma) \int_0^1 k(\lambda, h) |f'(\lambda b + m(1 - \lambda)a)| d\lambda, \\ &\leq (b - ma) \int_0^h \left| \lambda - \frac{1}{n} \right| |f'(\lambda b + m(1 - \lambda)a)| d\lambda \\ &\quad + (b - ma) \int_h^1 \left| \lambda - \frac{n-1}{n} \right| |f'(\lambda b + m(1 - \lambda)a)| d\lambda \\ &\leq (b - ma) \int_0^h \left| \lambda - \frac{1}{n} \right| \lambda^\alpha |f'(b)| + m(1 - \lambda^\alpha) |f'(a)| d\lambda \\ &\quad + (b - ma) \int_h^1 \left| \lambda - \frac{n-1}{n} \right| \lambda^\alpha |f'(b)| + m(1 - \lambda^\alpha) |f'(a)| d\lambda. \end{aligned}$$

By simple calculations, we have

$$\begin{aligned} &\int_0^h \lambda^\alpha \left| \lambda - \frac{1}{n} \right| d\lambda + \int_h^1 \lambda^\alpha \left| \lambda - \frac{n-1}{n} \right| d\lambda \\ &= \frac{2 + 2(n-1)^{\alpha+2}}{n^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{2 + \alpha - n}{n(\alpha+1)(\alpha+2)} + \frac{h^{\alpha+1}(\alpha(2h-1) + 2(h-1))}{(\alpha+1)(\alpha+2)}, \end{aligned}$$

and

$$\int_0^h (1-\lambda^\alpha) \left| \lambda - \frac{1}{n} \right| d\lambda + \int_h^1 (1-\lambda^\alpha) \left| \lambda - \frac{n-1}{n} \right| d\lambda$$

$$= \frac{n^2 + 2n^2h^2 + 2(n-1)^2 - 2n(n-1)(h+1) + 2 - 2nh}{2n^2}$$

$$- \frac{2 + 2(n-1)^{\alpha+2}}{n^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{2 + \alpha - n}{n(\alpha+1)(\alpha+2)} + \frac{h^{\alpha+1}(\alpha(2h-1) + 2(h-1))}{(\alpha+1)(\alpha+2)}.$$

The proof of Theorem 13 is completed. □

Now, we conclude the following Corollaries 14 and 15.

Corollary 14. Under the assumption of Theorem 13, we get

$$\left| S_{ma}^b(f) \left(\frac{1}{2}, 6 \right) \right| \leq (b - ma) [v_3 |f'(b)| + m v_4 |f'(a)|],$$

where

$$v_3 = \frac{6^{-\alpha}(1 + (5)^{\alpha+2} - 9(2)^{-\alpha} + 3\alpha - 12)}{18(\alpha^2 + 3\alpha + 2)} \quad \text{and} \quad v_4 = \left(\frac{5}{36} - v_3 \right).$$

Corollary 15. Putting $\alpha = 1$ and $m = 1$, in the above Corollary 14, we get,

$$\left| S_a^b(f) \left(\frac{1}{2}, 6 \right) \right| \leq \frac{5(b-a)}{72} [|f'(b)| + |f'(a)|].$$

Remark 16. It is observed that Corollary 14 and Corollary 15 are better than the Theorems presented by Dragomir and Kiramic. Moreover Corollary 14 was proved by Qaisar et al. in [5]. Hence, our results in Theorem 13 are generalizations of the corresponding results of Qaisar et al. in [5].

By applying Hölder’s inequality, we obtain the following Theorem 17.

Theorem 17. Let $f : I \subset (0, \infty) \rightarrow \mathbb{R}$ be a differentiable function on I^0 (interior of I) $a, b \in I$ with $a < b$. If the mapping $|f'|^{\frac{p}{p-1}}$ is (α, m) -convex on $[a, b]$ and for some fixed $(\alpha, m) \in [0, 1]^2$ and $p > 1$, the following inequality holds:

$$\left| S_{ma}^b(f)(h, n) \right| \leq (b - ma) \left(\frac{h}{\alpha + 1} \right)^{\frac{1}{q}} \left(\frac{1 + (nh - 1)^{p+1}}{n^{p+1}(p + 1)} \right)^{\frac{1}{p}} \{ |f'(hb + m(1 - h)\alpha)|^q + |f'(a)|^q \}^{\frac{1}{q}}$$

$$+ (b - ma) \left(\frac{1 - h}{\alpha + 1} \right)^{\frac{1}{q}} \left(\frac{1 + (n - nh - 1)}{n^{p+1}(p + 1)} \right)^{\frac{1}{p}} \{ |f'(hb + m(1 - h)\alpha)|^q + |f'(a)|^q \}^{\frac{1}{q}},$$

where $\frac{1}{p} + \frac{1}{q} = 1$.

Proof. Using Hölder’s inequality and by Lemma 12, we get

$$\leq (b - ma) \left(\int_0^h \left| \left(\lambda - \frac{1}{n} \right) \right|^p d\lambda \right)^{\frac{1}{p}} \left(\int_0^h |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \right)^{\frac{1}{q}}$$

$$+ (b - ma) \left(\int_h^1 \left| \left(\lambda - \frac{n-1}{n} \right) \right|^p d\lambda \right)^{\frac{1}{p}} \left(\int_h^1 |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \right)^{\frac{1}{q}}.$$

Also the (α, m) -convexity of $|f'|^{\frac{p}{p-1}}$ implies that

$$\int_0^h |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \leq \left(\frac{h}{\alpha + 1} \right)^{\frac{1}{q}} \{ |f'(hb + m(1 - h)\alpha)|^q + |f'(a)|^q \},$$

$$\int_h^1 |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \leq \left(\frac{1 - h}{\alpha + 1} \right)^{\frac{1}{q}} \{ |f'(hb + m(1 - h)\alpha)|^q + |f'(a)|^q \}.$$

Therefore, by combining above inequalities, we get the required result.
 The proof of Theorem 17 is completed. □

Corollary 18. *In Theorem 17 putting $n = 6$ and $h = \frac{1}{2}$, $\alpha = 1$, and $m = 1$, then we have*

$$\left| S_a^b(f) \left(\frac{1}{2}, 6 \right) \right| \leq 4^{\frac{-1}{q}} (b-a) \left(\frac{1+2^{p+1}}{6^{p+1}(p+1)} \right)^{\frac{1}{p}} \times \left[\left(|f'(a)|^q + \left| f' \left(\frac{a+b}{2} \right) \right|^q \right)^{\frac{1}{q}} + \left(\left| f' \left(\frac{a+b}{2} \right) \right|^q + |f'(b)|^q \right)^{\frac{1}{q}} \right].$$

In the following Theorem 19, we obtain another form of Simpson’s inequality for powers in term of the first derivative.

Theorem 19. *Let f be defined as in Theorem 17. If the mapping $|f'|^{\frac{p}{(p-1)}}$ is (α, m) -convex on $[a, b]$, for some fixed $(\alpha, m) \in [0, 1]^2$ and $q > 1$, we have the following inequality:*

$$\left| S_{ma}^b(f) (h, n) \right| \leq (b-ma) \left(\frac{1+(nh-1)^2}{2n^2} \right)^{\frac{1}{p}} (u_1 |f'(b)|^q + u_2 |f'(a)|^q)^{\frac{1}{q}} + (b-ma) \left(\frac{1+(nh-n+1)^2}{2n^2} \right)^{\frac{1}{q}} (u_3 |f'(b)|^q + u_4 m |f'(a)|^q)^{\frac{1}{q}},$$

where

$$u_1 = \frac{2}{n^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{h^{\alpha+1}(nh(\alpha+1) - \alpha - 2)}{n(\alpha+1)(\alpha+2)}, \quad u_2 = \frac{1+(nh-1)^2}{2n^2} - u_1, \\ u_3 = \frac{2(n-1)^{\alpha+2}}{n^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{(1+h^{\alpha+1})(\alpha+2-n)}{n(\alpha+1)(\alpha+2)} - \frac{h^{\alpha+1}(1-h)}{(\alpha+2)}, \quad u_4 = \frac{1+(nh-n+1)^2}{2n^2} - u_3.$$

Proof. By Lemma 12 and using power mean inequality, we get

$$\left| S_{ma}^b(f) (h, n) \right| \leq (b-ma) \left(\int_0^h \left| \lambda - \frac{1}{n} \right| d\lambda \right)^{\frac{1}{p}} \left(\int_0^h \left(\lambda - \frac{1}{n} \right) |f'(\lambda b + m(1-\lambda)a|^q d\lambda \right)^{\frac{1}{q}} + (b-ma) \left(\int_h^1 \left| \lambda - \frac{n-1}{n} \right| d\lambda \right)^{\frac{1}{p}} \left(\int_h^1 \left(\lambda - \frac{n-1}{n} \right) |f'(\lambda b + m(1-\lambda)a|^q d\lambda \right)^{\frac{1}{q}}.$$

The (α, m) -convexity of $|f'|^{\frac{p}{(p-1)}}$ gives that

$$\int_0^h \left| \lambda - \frac{1}{n} \right| |f'(\lambda b + m(1-\lambda)a|^q d\lambda \leq u_1 |f'(b)|^q + m u_2 |f'(a)|^q, \\ \int_h^1 \left| \lambda - \frac{n-1}{n} \right| |f'(\lambda b + m(1-\lambda)a|^q d\lambda \leq u_3 |f'(b)|^q + m u_4 |f'(a)|^q.$$

Our required result is obtained by combining above inequalities.

The proof of Theorem 19 is completed. □

Corollary 20. *Let f be defined as in Theorem 19 and $\alpha = 1$, $m = 1$, the inequality holds for convex functions:*

$$\left| S_a^b(f) \left(\frac{1}{2}, 6 \right) \right| \leq (b-a) \left(\frac{5}{72} \right)^{\frac{1}{p}} \times \left[\left(\frac{29}{1296} |f'(b)|^q + \frac{61}{1296} |f'(a)|^q + \frac{61}{1296} |f'(b)|^q + \frac{29}{1296} |f'(a)|^q \right)^{\frac{1}{q}} \right].$$

The next result, gives an inequality of Simpson’s type for concave functions.

Theorem 21. Let $f : I \subset (0, \infty) \rightarrow \mathbb{R}$ be a differentiable function on I^0 (interior of I) $a, b \in I$ with if the mapping $|f'|^{p/(p-1)}$ is concave on $[a, b]$ and $p > 1$ the following inequality holds:

$$\left| S_a^b(f)(h, n) \right| \leq (b - a) \times \left\{ \left[\frac{1 + (nh - 1)^2}{2n^2} \right] f' \left(\frac{2 + n^2 h^2 (2nh - 3)b + [3n(1 + nh - 1)^2 - (2 + n^2 h^2 (2nh - 3))] a}{3n[1 + (nh - 1)^2]} \right) + \left[\frac{1 + (nh - n + 1)^2}{2n^2} \right] \times \left| f' \left(\frac{[n^2 [h^2 (2nh - 3n + 3) + (n - 3)] + 6n - 2 + 3n(1 + (nh - n + 1)^2)] b - [n^2 (h^2 (2nh - 3n + 3) + (n - 3) + 6n - 2)] a}{3n[1 + (nh - n + 1)^2]} \right) \right| \right\}.$$

Proof. We note that by concavity of $|f'|^{p/(p-1)}$ and the power mean inequality and we have

$$|f'(\lambda b + (1 - \lambda)a)|^q \geq \lambda |f'(a)|^q + (1 - \lambda) |f'(b)|^q.$$

Hence

$$|f'(\lambda a + (1 - \lambda)b)| \geq \lambda |f'(a)| + (1 - \lambda) |f'(b)|,$$

so, $|f'|$ is also concave.

Accordingly, by the Jensen's integral inequality, we have

$$\int_0^h \left| \left(\lambda - \frac{1}{n} \right) \right| |f'(\lambda b + (1 - \lambda)a)| d\lambda \leq \left(\int_0^h \left| \lambda - \frac{1}{n} \right| d\lambda \right) \left| f' \left(\frac{\int_0^h \left| \lambda - \frac{1}{n} \right| |\lambda b + (1 - \lambda)a| d\lambda}{\int_0^h \left| \lambda - \frac{1}{n} \right| d\lambda} \right) \right| \left[\frac{1 + (nh - 1)^2}{2n^2} \right] f' \left(\frac{2 + n^2 h^2 (2nh - 3)b + [3n(1 + nh - 1)^2 - (2 + n^2 h^2 (2nh - 3))] a}{3n[1 + (nh - 1)^2]} \right),$$

and

$$\begin{aligned} & \int_h^1 \left| \left(\lambda - \frac{n-1}{n} \right) \right| |f'(\lambda b + (1 - \lambda)a)| d\lambda \\ & \leq \left(\int_h^1 \left| \lambda - \frac{n-1}{n} \right| d\lambda \right) \left| f' \left(\frac{\int_h^1 \left| \lambda - \frac{n-1}{n} \right| |\lambda b + (1 - \lambda)a| d\lambda}{\int_h^1 \left| \lambda - \frac{n-1}{n} \right| d\lambda} \right) \right| \\ & = \frac{1 + (nh - n + 1)^2}{2n^2} f' \left(\frac{n^2 [h^2 (2nh - 3 + 3n) + (n - 3)] + 6n - 2}{3n[1 + (nh - n + 1)^2]} b \right. \\ & \quad \left. + \frac{3n[(1 + nh - 1)^2] - n^2 [h^2 (2nh - 3 + 3n) + (n - 3)] + 6n - 2}{3n[1 + (nh - n + 1)^2]} a \right). \end{aligned}$$

A combination of the above inequalities gives the desired result, that is

$$\begin{aligned} & \left| S_a^b(f)(h, n) \right| \leq (b - a) \left[\frac{1 + (nh - 1)^2}{2n^2} \right] \\ & \times \left| f' \left(\frac{2 + n^2 h^2 (2nh - 3)b + [3n(1 + (nh - 1)^2 - (2 + n^2 h^2 (2nh - 3))] a}{3n[1 + (nh - 1)^2]} \right) \right| + \left[\frac{1 + (nh - n + 1)^2}{2n^2} \right] \\ & \times \left| f' \left[n^2 [h^2 (2nh - 3n + 3) + (n - 3)] + 6n - 2 + 3n(1 + (nh - n + 1)^2) \right] b \right. \\ & \left. - [n^2 (h^2 (2nh - 3n + 3) + (n - 3) + 6n - 2)] a \right| / \{3n[1 + (nh - n + 1)^2]\}. \end{aligned}$$

This completes the proof of Theorem 21. □

Another result is considered as follows:

Theorem 22. Let $f : [0, b] \rightarrow \mathbb{R}$, be a differentiable function on I^o (interior of I) $a, b \in I$ with $a < b$. If the mapping $|f'|^q$ is concave on $[a, b]$, and for some fixed $q > 1$ the following inequality holds:

$$\begin{aligned} |S_{ma}^b(f)(h, n)| &\leq (b - ma) \left(\frac{q-1}{2q-1} \right) \left(h^{\frac{q-1}{2q-1}} + 1 \right) \\ &\quad \times [|f'(h^2b + m(2h - h^2)a)| + |f'((1 - h^2)b + mh^2a)|]. \end{aligned}$$

Proof. From Lemma 12, we have

$$\begin{aligned} |S_{ma}^b(f)(h, n)| &\leq (b - ma) \int_0^h \left| \lambda - \frac{1}{n} \right| |f'(\lambda b + m(1 - \lambda)a)| d\lambda \\ &\quad + (b - ma) \int_h^1 \left| \lambda - \frac{n-1}{n} \right| |f'(\lambda b + m(1 - \lambda)a)| d\lambda. \end{aligned}$$

By applying Hölder's inequality, for $q > 1$ and $p = \frac{q}{q-1}$, we get

$$\begin{aligned} (b - ma) \int_0^h \left| \lambda - \frac{1}{n} \right| |f'(\lambda b + m(1 - \lambda)a)| d\lambda \\ \leq (b - ma) \left(\int_0^h \left| \lambda - \frac{1}{n} \right|^{\frac{q}{q-1}} d\lambda \right)^{\frac{q-1}{q}} \left(\int_0^h |(\lambda b + m(1 - \lambda)a)|^q d\lambda \right)^{1/q} \\ + (b - ma) \left(\int_h^1 \left| \lambda - \frac{n-1}{n} \right|^{\frac{q}{q-1}} d\lambda \right)^{\frac{q-1}{q}} \left(\int_h^1 |(\lambda b + m(1 - \lambda)a)|^q d\lambda \right)^{1/q} \end{aligned}$$

where we use the fact

$$\int_0^h \left| \lambda - \frac{1}{n} \right|^{\frac{q}{q-1}} d\lambda = \int_h^1 \left| \lambda - \frac{n-1}{n} \right|^{\frac{q}{q-1}} d\lambda = \frac{1}{\frac{2q-1}{n^{q-1}}} \left(\frac{q-1}{2q-1} \right) \left(h^{\frac{q-1}{2q-1}} + 1 \right).$$

Since $|f'|^q$ is concave on $[a, b]$ using integral *Jensen's* inequality, we have

$$\begin{aligned} &\int_0^h |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \\ &= \int_0^h \lambda^0 |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \leq \left(\int_0^h \lambda^0 d\lambda \right) \left| f' \left(\frac{\int_0^h \lambda^0 d\lambda |(\lambda b + m(1 - \lambda)a)| d\lambda}{\int_0^h \lambda^0 d\lambda} \right) \right|^q \\ &= \frac{1}{2} \left| f' \left(2 \int_0^h (\lambda b + m(1 - \lambda)a) d\lambda \right) \right|^q \\ &= \frac{1}{2} |f'(h^2b + m(2h - h^2)a)|. \end{aligned}$$

Analogously

$$\int_h^1 |f'(\lambda b + m(1 - \lambda)a)|^q d\lambda \leq \frac{1}{2} |f'((1 - h^2)b + mh^2a)|^q.$$

By simple computation

$$\begin{aligned} |S_{ma}^b(f)(h, n)| &\leq (b - ma) \left(\frac{q-1}{2q-1} \right) \left(h^{\frac{q-1}{2q-1}} + 1 \right) \\ &\quad \times [|f'(h^2b + m(2h - h^2)a)| + |f'((1 - h^2)b + mh^2a)|]. \end{aligned}$$

This completes the proof of Theorem 22. \square

Theorem 23. Let $f : [0, b] \rightarrow \mathbb{R}$, be a differentiable function on I^o (interior of I) $a, b \in I$ with $a < b$. If the mapping $|f'|^q$ is concave on $[a, b]$ and for some fixed $q > 1, h \in (0, 1)$, the following inequality holds:

$$\begin{aligned} |S_{ma}^b(f)(h, n)| &\leq (b - ma) 2^{\frac{(\alpha-1)}{q}} \frac{1}{\frac{2q-1}{q-1}} \left(\frac{q-1}{2q-1}\right) \left(h^{\frac{q-1}{2q-1}} + 1\right) \\ &\quad \times [|f'(hb + m(1+h)a| + |f'((1+h)b + mha)|]. \end{aligned}$$

Proof. It is similar as in the proof of Theorem 22, by utilizing Theorem 6 instead of the Jensen’s integral inequality for concave functions. For the concavity of $|f'|^q$, we have

$$\begin{aligned} \int_0^h |f'(\lambda b + m(1-\lambda)a)|^q d\lambda &\leq 2^{\alpha-1} |f'(hb + m(1+h)a)|^q, \\ \int_h^1 |f'(\lambda b + m(1-\lambda)a)|^q d\lambda &\leq 2^{\alpha-1} |f'(1+h)b + mha|^q. \end{aligned}$$

Hence

$$\begin{aligned} |S_{ma}^b(f)(h, n)| &\leq (b - ma) 2^{\frac{(\alpha-1)}{q}} \frac{1}{\frac{2q-1}{q-1}} \left(\frac{q-1}{2q-1}\right) \left(h^{\frac{q-1}{2q-1}} + 1\right) \\ &\quad \times [|f'(hb + m(1+h)a| + |f'(1+h)b + mha|]. \end{aligned}$$

This completes the proof of Theorem 23. □

3. Application to Some Special Means

Let us recall the following means for arbitrary real numbers a and b .

(1) The Arithmetic mean

$$A = A(a, b) = \frac{a+b}{2}, \quad a, b \geq 0.$$

(2) Generalized-logarithmic mean

$$L_n(a, b) = \begin{cases} a, & \text{if } a = b, \\ \left[\frac{b^{n+1} - a^{n+1}}{(n+1)(b-a)} \right]^{1/n} & \text{if } a \neq b. \end{cases} \quad n \in \mathbb{R} \setminus \{-1, 0\}; \quad a, b > 0$$

(3) The Logarithmic mean

$$L = L(a, b) = \begin{cases} a, & \text{if } a = b, \\ \left[\frac{b-a}{\ln b - \ln a} \right]^{1/n} & \text{if } a \neq b. \end{cases} \quad a, b > 0$$

Now utilizing outcomes of Section 2, some new inequalities are derived for the above means.

It is well known that L_p is monotonic non- decreasing over $p \in \mathbb{R}$ with $L_{-1} := L$ and $L_0 := I$. In particular, we have the following inequalities

$$L \leq A.$$

In the following some new inequalities are derived for the above means.

Consider

$$f : [a, b] \rightarrow \mathbb{R}, \quad (0 < a < b), \quad f(x) = x^\alpha, \quad \alpha \in (0, 1],$$

then

$$\begin{aligned} \frac{1}{b-a} \int_a^b f(x) dx &= L_\alpha^\alpha(a, b). \\ \frac{f(a) + f(b)}{2} &= A(a^\alpha, b^\alpha). \\ f\left(\frac{a+b}{2}\right) &= A^\alpha(a, b). \end{aligned}$$

Under the assumption of Corollary 15, we have

$$\left| \frac{2}{n} A(a^\alpha, b^\alpha) + \frac{(n-2)}{n} A^\alpha(a, b) - L_\alpha^\alpha(a, b) \right| \leq \alpha(b-a) [v_1 b^{(\alpha-1)} + v_2 a^{(\alpha-1)}],$$

where

$$\begin{aligned} v_1 &= \frac{2 + 2(n-1)^{\alpha+2}}{n^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{2 + \alpha - n}{n(\alpha+1)(\alpha+2)} + \frac{h^{\alpha+1}(\alpha(2h-1) + 2(h-1))}{(\alpha+1)(\alpha+2)} \\ v_2 &= \left(\frac{n^2 + 2n^2 h^2 + 2(n-1)^2 - 2n(n-1)(h+1) + 2 - 2nh}{2n^2} - v_1 \right). \end{aligned}$$

If $n = 6$, $h = 1/2$, $\alpha = 1$, then we have

$$|A(a, b) - L(a, b)| \leq \frac{5}{36}(b-a).$$

Under the assumption of Corollary 18, we have

$$\begin{aligned} \left| \frac{2}{n} A(a^\alpha, b^\alpha) + \frac{(n-2)}{n} A^\alpha(a, b) - L_\alpha^\alpha(a, b) \right| \\ \leq 4^{\frac{-1}{q}}(b-a) \left(\frac{1 + 2^{p+1}}{6^{p+1}(p+1)} \right)^{\frac{1}{p}} \left[\{A^{(\alpha-1)q}(A(a, b)) + a^{(\alpha-1)q}\}^{\frac{1}{q}} \right. \\ \left. + \{A^{(\alpha-1)q}(A(a, b)) + b^{(\alpha-1)q}\}^{\frac{1}{q}} \right]. \end{aligned}$$

Under the assumption of Corollary 20, we have

$$\begin{aligned} \left| \frac{2}{n} A(a^\alpha, b^\alpha) + \frac{(n-2)}{n} A^\alpha(a, b) - L_\alpha^\alpha(a, b) \right| \\ \leq (b-a) \left(\frac{5}{72} \right)^{\frac{1}{p}} \left[\{u_1 b^{(\alpha-1)q} + u_2 a^{(\alpha-1)q}\}^{\frac{1}{q}} + \{u_3 b^{(\alpha-1)q} + u_4 a^{(\alpha-1)q}\}^{\frac{1}{q}} \right]. \end{aligned}$$

where

$$\begin{aligned} u_1 &= \frac{2}{n^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{h^{\alpha+1}(\alpha(2h-1) + 2(h-1))}{(\alpha+1)(\alpha+2)}, & u_2 &= \frac{1 + (nh-1)^2}{2n^2} - u_1, \\ u_3 &= \frac{2(n+1)^{\alpha+2}}{n^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{(1+h^{\alpha+1})(\alpha+2-n)}{n(\alpha+1)(\alpha+2)} - \frac{h^{\alpha+1}(1-h)}{(\alpha+2)}, & u_4 &= \frac{1 + (nh-n-1)^2}{2n^2} - u_3. \end{aligned}$$

$$\left| \frac{2}{n} A(\alpha^\alpha, b^\alpha) + \frac{(n-2)}{n} A^\alpha(a, b) - L_\alpha^\alpha(a, b) \right| \leq \left[(u_1 |f'(b)|^q + u_2 |f'(a)|^q)^{\frac{1}{q}} + (u_3 |f'(b)|^q + u_4 |f'(a)|^q)^{\frac{1}{q}} \right],$$

where

$$u_1 = \frac{2}{6^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{(3(1+\alpha) - \alpha - 2)}{6(\alpha+1)(\alpha+2)2^{\alpha+1}}, \quad u_2 = \frac{5}{72} - u_1,$$

$$u_3 = \frac{2 \cdot 5^{\alpha+2}}{6^{\alpha+2}(\alpha+1)(\alpha+2)} + \frac{(1+2^{\alpha+1})(\alpha-4)}{6(\alpha+1)(\alpha+2)2^{\alpha+1}} - \frac{1}{2^{\alpha+2}(\alpha+2)}, \quad u_4 = \frac{5}{72} - u_3.$$

4. Conclusion

In this paper, we have presented some new results related to Simpson's type inequalities for powers in term of the first derivative using the (α, m) -convex functions. Few inequalities for concave functions are also obtained. Our existing results generalize some previously obtained results. Many other interesting inequalities could be derived from our newly obtained results by considering for different values of parameters. Some applications for special means of real numbers are also provided.

References

- [1] M. Alomari, M. Darus, S. S. Dragomir, "New inequalities of Simpson's type for s -convex functions with applications", published in *RGMA Research report collection*, <https://rgmia.org/papers/v12n4/Simpson.pdf>, 2009.
- [2] S. S. Dragomir, R. P. Agarwal, P. Cerone, "On Simpson's inequality and applications", *J. Inequal. Appl.* **5** (2000), no. 6, p. 533-579.
- [3] S. S. Dragomir, S. Fitzpatrick, "The Hadamard inequalities for s -convex functions in the second sense", *Demonstr. Math.* **32** (1999), no. 4, p. 687-696.
- [4] T. Du, H. Wang, M. A. Khan, Y. Zhang, "Certain integral inequalities considering generalized m -convexity on fractal sets and their applications, Fractals-Complex Geometry, Patterns, and Scaling", *Fractals* **27** (2019), no. 7, article no. 1950117 (17 pages).
- [5] U. S. Kirmaci, "Inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula", *Appl. Math. Comput.* **147** (2004), no. 1, p. 137-146.
- [6] Z. Liu, "An inequality of Simpson's type", *Proc. A, R. Soc. Lond.* **461** (2005), no. 2059, p. 2155-2158.
- [7] V. G. Mihesan, "A generalization of the convexity", 1993, Seminar on functional equations, approximation and convexity, Cluj-Napoca.
- [8] S. Qaisar, C. He, S. Hussain, "A generalizations of Simpson's type inequality for differentiable functions using (α, m) -convex functions and applications", *J. Inequal. Appl.* **2013** (2013), article no. 158 (13 pages).
- [9] M. Z. Sarikaya, E. Set, M. E. Özdemir, "On new inequalities of Simpson's type for convex functions RGMA Res.", published in *RGMA Research report collection*, <https://rgmia.org/papers/v13n1/sso3.pdf>, 2010.
- [10] ———, "On new inequalities of Simpson's type for s -convex functions, Computers and Mathematics with Applications", *Comput. Math. Appl.* **60** (2010), no. 8, p. 2191-2199.
- [11] E. Set, A. O. Akdemir, M. E. Özdemir, "Simpson's type integral inequalities for convex functions via Riemann–Liouville integrals", *Filomat* **31** (2017), no. 14, p. 4415-4420.